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CS6-055 58 15 9
-1
*1 *2
y w/m? (kg/m*) x 10° /hr /hr N/mm?
0 1.27 -0.57 40.3 0.57
0 0.72 -0.45 34.6 0.51
0 1.84 -0.63 44.7 0.63
0 1.27 -0.45 40.3 0.43
0 1.27 -0.65 40.3 0.61
0 1.27 -0.48 40.3 0.34
0 1.27 -0.67 40.3 0.81
/ 0 1.27 -0.37 40.3 0.19
/ 0 1.27 -0.73 40.3 0.85
+30 0 1.46 -0.65 44.1 0.62
+60 0 1.65 -0.73 48.0 0.66
1.27 -0.57 40.3 0.21
1.27 -0.57 40.3 -0.11
1.98 -0.67 61.9 0.65
1.00 -0.53 54.0 0.54
2.97 -0.77 65.6 0.76
1.98 -0.54 61.9 0.44
1.98 -0.72 61.9 0.73
2.24 -0.75 66.0 0.70
2.49 -0.83 70.1 0.75
1.98 -0.67 61.9 0.29
1.98 -0.67 61.9 -0.03
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